NASS Summary Statistics 2018 Supplemental File Contents Alphabetic List of Variables and Attributes

Num	Variable	Туре	Len	Pos	Label
35	CPT1	Char	5	145	CPT Procedure 1
36	CPT2	Char	5	150	CPT Procedure 2
37	СРТ3	Char	5	155	CPT Procedure 3
38	CPT4	Char	5	160	CPT Procedure 4
39	CPT5	Char	5	165	CPT Procedure 5
40	СРТ6	Char	5	170	CPT Procedure 6
41	СРТ7	Char	5	175	CPT Procedure 7
42	СРТ8	Char	5	180	CPT Procedure 8
43	СРТ9	Char	5	185	CPT Procedure 9
44	CPT10	Char	5	190	CPT Procedure 10
45	CPT11	Char	5	195	CPT Procedure 11
46	CPT12	Char	5	200	CPT Procedure 12
47	CPT13	Char	5	205	CPT Procedure 13
48	CPT14	Char	5	210	CPT Procedure 14
49	CPT15	Char	5	215	CPT Procedure 15
50	CPT16	Char	5	220	CPT Procedure 16
51	CPT17	Char	5	225	CPT Procedure 17
52	CPT18	Char	5	230	CPT Procedure 18
53	CPT19	Char	5	235	CPT Procedure 19
54	CPT20	Char	5	240	CPT Procedure 20
55	CPT21	Char	5	245	CPT Procedure 21
56	CPT22	Char	5	250	CPT Procedure 22
57	CPT23	Char	5	255	CPT Procedure 23
58	CPT24	Char	5	260	CPT Procedure 24
59	CPT25	Char	5	265	CPT Procedure 25
60	CPT26	Char	5	270	CPT Procedure 26
61	CPT27	Char	5	275	CPT Procedure 27
62	CPT28	Char	5	280	CPT Procedure 28
63	CPT29	Char	5	285	CPT Procedure 29
64	CPT30	Char	5	290	CPT Procedure 30
5	CPTCCS1	Num	4	20	CPT 1 Procedure CCS
6	CPTCCS2	Num	4	24	CPT 2 Procedure CCS
7	CPTCCS3	Num	4	28	CPT 3 Procedure CCS
8	CPTCCS4	Num	4	32	CPT 4 Procedure CCS

NASS Summary Statistics 2018 Supplemental File Contents Alphabetic List of Variables and Attributes

Num	Variable	Туре	Len	Pos	Label
9	CPTCCS5	Num	4	36	CPT 5 Procedure CCS
10	CPTCCS6	Num	4	40	CPT 6 Procedure CCS
11	CPTCCS7	Num	4	44	CPT 7 Procedure CCS
12	CPTCCS8	Num	4	48	CPT 8 Procedure CCS
13	CPTCCS9	Num	4	52	CPT 9 Procedure CCS
14	CPTCCS10	Num	4	56	CPT 10 Procedure CCS
15	CPTCCS11	Num	4	60	CPT 11 Procedure CCS
16	CPTCCS12	Num	4	64	CPT 12 Procedure CCS
17	CPTCCS13	Num	4	68	CPT 13 Procedure CCS
18	CPTCCS14	Num	4	72	CPT 14 Procedure CCS
19	CPTCCS15	Num	4	76	CPT 15 Procedure CCS
20	CPTCCS16	Num	4	80	CPT 16 Procedure CCS
21	CPTCCS17	Num	4	84	CPT 17 Procedure CCS
22	CPTCCS18	Num	4	88	CPT 18 Procedure CCS
23	CPTCCS19	Num	4	92	CPT 19 Procedure CCS
24	CPTCCS20	Num	4	96	CPT 20 Procedure CCS
25	CPTCCS21	Num	4	100	CPT 21 Procedure CCS
26	CPTCCS22	Num	4	104	CPT 22 Procedure CCS
27	CPTCCS23	Num	4	108	CPT 23 Procedure CCS
28	CPTCCS24	Num	4	112	CPT 24 Procedure CCS
29	CPTCCS25	Num	4	116	CPT 25 Procedure CCS
30	CPTCCS26	Num	4	120	CPT 26 Procedure CCS
31	CPTCCS27	Num	4	124	CPT 27 Procedure CCS
32	CPTCCS28	Num	4	128	CPT 28 Procedure CCS
33	CPTCCS29	Num	4	132	CPT 29 Procedure CCS
34	CPTCCS30	Num	4	136	CPT 30 Procedure CCS
1	HOSP_NASS	Num	4	16	NASS Hospital Number
2	KEY_NASS	Num	5	140	NASS record number
4	NCPT_NOTINSCOPE	Num	8	8	# Out-of-scope CPTs for this encounter
3	YEAR	Num	8	0	Data Year

NASS Summary Statistics 2018 Means for Supplemental File

The MEANS Procedure

Variable	Label	N	N Miss	Minimum	Maximum	Mean	Std Dev
HOSP_NASS	NASS Hospital Number	5330291	0	10001.00	40493.00	24310.81	9221.98
KEY_NASS	NASS record number	5330291	0	10000002.00	41187530.00	24974948.98	9242488.68
YEAR	Data Year	5330291	0	2018.00	2018.00	2018.00	0
NCPT_NOTINSCOPE	# Out-of-scope CPTs for this encounter	5330291	0	1.0000000	30.0000000	4.7974508	4.6936454
CPTCCS1	CPT 1 Procedure CCS	5329951	340	1.0000000	998.0000000	198.5427566	68.3755139
CPTCCS2	CPT 2 Procedure CCS	3894811	1435480	1.0000000	998.0000000	210.8002902	61.6625853
CPTCCS3	CPT 3 Procedure CCS	2996012	2334279	1.0000000	998.0000000	216.7384663	59.3443705
CPTCCS4	CPT 4 Procedure CCS	2412865	2917426	1.0000000	998.0000000	218.8461505	49.0901246
CPTCCS5	CPT 5 Procedure CCS	1968195	3362096	1.0000000	998.0000000	219.9744207	43.4218281
CPTCCS6	CPT 6 Procedure CCS	1621942	3708349	1.0000000	998.0000000	220.3434623	40.0003072
CPTCCS7	CPT 7 Procedure CCS	1337424	3992867	1.0000000	998.0000000	220.7213479	37.6116737
CPTCCS8	CPT 8 Procedure CCS	1106796	4223495	1.0000000	998.0000000	221.0478562	35.7893000
CPTCCS9	CPT 9 Procedure CCS	915329	4414962	1.0000000	998.0000000	221.1935501	34.7791144
CPTCCS10	CPT 10 Procedure CCS	759160	4571131	1.0000000	998.0000000	221.3767203	34.1834433
CPTCCS11	CPT 11 Procedure CCS	626049	4704242	1.0000000	998.0000000	221.6296999	33.5606810
CPTCCS12	CPT 12 Procedure CCS	517132	4813159	1.0000000	998.0000000	221.7239525	33.5399046
CPTCCS13	CPT 13 Procedure CCS	423808	4906483	1.0000000	998.0000000	221.8260651	33.1392274
CPTCCS14	CPT 14 Procedure CCS	346315	4983976	2.0000000	998.0000000	221.8603266	33.0579099
CPTCCS15	CPT 15 Procedure CCS	280432	5049859	1.0000000	998.0000000	222.0997390	32.4004242
CPTCCS16	CPT 16 Procedure CCS	226824	5103467	3.0000000	998.0000000	222.2664004	32.0271871
CPTCCS17	CPT 17 Procedure CCS	181834	5148457	2.0000000	998.0000000	222.3583433	31.5120137
CPTCCS18	CPT 18 Procedure CCS	145340	5184951	2.0000000	998.0000000	222.4710334	31.3251432
CPTCCS19	CPT 19 Procedure CCS	114900	5215391	3.0000000	998.0000000	222.7908703	30.6110162
CPTCCS20	CPT 20 Procedure CCS	90009	5240282	3.0000000	998.0000000	222.8767123	30.3379201
CPTCCS21	CPT 21 Procedure CCS	68670	5261621	3.0000000	998.0000000	223.1513325	29.0909216
CPTCCS22	CPT 22 Procedure CCS	53695	5276596	3.0000000	998.0000000	223.0320142	29.1494946
CPTCCS23	CPT 23 Procedure CCS	41002	5289289	3.0000000	237.0000000	222.8983708	28.8761636
CPTCCS24	CPT 24 Procedure CCS	31077	5299214	3.0000000	998.0000000	222.0846929	30.4308842
CPTCCS25	CPT 25 Procedure CCS	23186	5307105	3.0000000	243.0000000	221.7770206	30.7740632
CPTCCS26	CPT 26 Procedure CCS	17868	5312423	1.0000000	237.0000000	220.6499328	32.9757262
CPTCCS27	CPT 27 Procedure CCS	13843	5316448	2.0000000	243.0000000	220.1688940	33.4970979
CPTCCS28	CPT 28 Procedure CCS	10862	5319429	3.0000000	237.0000000	219.7857669	33.2920861
CPTCCS29	CPT 29 Procedure CCS	8505	5321786	3.0000000	237.0000000	220.7009994	30.8610911
CPTCCS30	CPT 30 Procedure CCS	6677	5323614	3.0000000	237.0000000	221.8168339	27.2648808

HOSP_NASS	Frequency	Percent of Total
Not Missing	5,330,291	100.0%

CPTCCS1	Frequency	Percent of Total
Missing	340	0.01%
Not Missing	5,329,951	99.99%

CPTCCS2	Frequency	Percent of Total
Missing	1,435,480	26.93%
Not Missing	3,894,811	73.07%

CPTCCS3	Frequency	Percent of Total
Missing	2,334,279	43.79%
Not Missing	2,996,012	56.21%

CPTCCS4	Frequency	Percent of Total
Missing	2,917,426	54.73%
Not Missing	2,412,865	45.27%

CPTCCS5	Frequency	Percent of Total
Missing	3,362,096	63.08%
Not Missing	1,968,195	36.92%

CPTCCS6	Frequency	Percent of Total
Missing	3,708,349	69.57%
Not Missing	1,621,942	30.43%

CPTCCS7	Frequency	Percent of Total
Missing	3,992,867	74.91%
Not Missing	1,337,424	25.09%

CPTCCS8	Frequency	Percent of Total
Missing	4,223,495	79.24%
Not Missing	1,106,796	20.76%

CPTCCS9	Frequency	Percent of Total
Missing	4,414,962	82.83%
Not Missing	915,329	17.17%

CPTCCS10	Frequency	Percent of Total
Missing	4,571,131	85.76%
Not Missing	759,160	14.24%

CPTCCS11	Frequency	Percent of Total
Missing	4,704,242	88.25%
Not Missing	626,049	11.75%

CPTCCS12	Frequency	Percent of Total
Missing	4,813,159	90.30%
Not Missing	517,132	9.70%

CPTCCS13	Frequency	Percent of Total
Missing	4,906,483	92.05%
Not Missing	423,808	7.95%

CPTCCS14	Frequency	Percent of Total
Missing	4,983,976	93.50%
Not Missing	346,315	6.50%

CPTCCS15	Frequency	Percent of Total
Missing	5,049,859	94.74%
Not Missing	280,432	5.26%

CPTCCS16	Frequency	Percent of Total
Missing	5,103,467	95.74%
Not Missing	226,824	4.26%

CPTCCS17	Frequency	Percent of Total
Missing	5,148,457	96.59%
Not Missing	181,834	3.41%

CPTCCS18	Frequency	Percent of Total
Missing	5,184,951	97.27%
Not Missing	145,340	2.73%

CPTCCS19	Frequency	Percent of Total
Missing	5,215,391	97.84%
Not Missing	114,900	2.16%

CPTCCS20	Frequency	Percent of Total
Missing	5,240,282	98.31%
Not Missing	90,009	1.69%

CPTCCS21	Frequency	Percent of Total
Missing	5,261,621	98.71%
Not Missing	68,670	1.29%

CPTCCS22	Frequency	Percent of Total
Missing	5,276,596	98.99%
Not Missing	53,695	1.01%

CPTCCS23	Frequency	Percent of Total
Missing	5,289,289	99.23%
Not Missing	41,002	0.77%

CPTCCS24	Frequency	Percent of Total
Missing	5,299,214	99.42%
Not Missing	31,077	0.58%

CPTCCS25	Frequency	Percent of Total
Missing	5,307,105	99.57%
Not Missing	23,186	0.43%

CPTCCS26	Frequency	Percent of Total
Missing	5,312,423	99.66%
Not Missing	17,868	0.34%

CPTCCS27	Frequency	Percent of Total
Missing	5,316,448	99.74%
Not Missing	13,843	0.26%

CPTCCS28	Frequency	Percent of Total
Missing	5,319,429	99.80%
Not Missing	10,862	0.20%

CPTCCS29	Frequency	Percent of Total
Missing	5,321,786	99.84%
Not Missing	8,505	0.16%

CPTCCS30	Frequency	Percent of Total
Missing	5,323,614	99.87%
Not Missing	6,677	0.13%

CPT1	Frequency	Percent of Total
Not Missing	5,330,291	100.0%

СРТ2	Frequency	Percent of Total
Missing	1,435,119	26.92%
Not Missing	3,895,172	73.08%

СРТ3	Frequency	Percent of Total
Missing	2,334,095	43.79%
Not Missing	2,996,196	56.21%

CPT4	Frequency	Percent of Total
Missing	2,917,310	54.73%
Not Missing	2,412,981	45.27%

СРТ5	Frequency	Percent of Total
Missing	3,362,008	63.07%
Not Missing	1,968,283	36.93%

СРТ6	Frequency	Percent of Total
Missing	3,708,277	69.57%
Not Missing	1,622,014	30.43%

СРТ7	Frequency	Percent of Total
Missing	3,992,834	74.91%
Not Missing	1,337,457	25.09%

СРТ8	Frequency	Percent of Total
Missing	4,223,472	79.24%
Not Missing	1,106,819	20.76%

СРТ9	Frequency	Percent of Total
Missing	4,414,943	82.83%
Not Missing	915,348	17.17%

CPT10	Frequency	Percent of Total
Missing	4,571,124	85.76%
Not Missing	759,167	14.24%

CPT11	Frequency	Percent of Total
Missing	4,704,232	88.25%
Not Missing	626,059	11.75%

CPT12	Frequency	Percent of Total
Missing	4,813,154	90.30%
Not Missing	517,137	9.70%

CPT13	Frequency	Percent of Total
Missing	4,906,473	92.05%
Not Missing	423,818	7.95%

CPT14	Frequency	Percent of Total
Missing	4,983,967	93.50%
Not Missing	346,324	6.50%

CPT15	Frequency	Percent of Total
Missing	5,049,857	94.74%
Not Missing	280,434	5.26%

CPT16	Frequency	Percent of Total
Missing	5,103,465	95.74%
Not Missing	226,826	4.26%

CPT17	Frequency	Percent of Total
Missing	5,148,454	96.59%
Not Missing	181,837	3.41%

CPT18	Frequency	Percent of Total
Missing	5,184,950	97.27%
Not Missing	145,341	2.73%

CPT19	Frequency	Percent of Total
Missing	5,215,390	97.84%
Not Missing	114,901	2.16%

CPT20	Frequency	Percent of Total
Missing	5,240,278	98.31%
Not Missing	90,013	1.69%

CPT21	Frequency	Percent of Total
Missing	5,261,620	98.71%
Not Missing	68,671	1.29%

CPT22	Frequency	Percent of Total
Missing	5,276,596	98.99%
Not Missing	53,695	1.01%

СРТ23	Frequency	Percent of Total
Missing	5,289,289	99.23%
Not Missing	41,002	0.77%

CPT24	Frequency	Percent of Total
Missing	5,299,214	99.42%
Not Missing	31,077	0.58%

CPT25	Frequency	Percent of Total
Missing	5,307,104	99.56%
Not Missing	23,187	0.44%

CPT26	Frequency	Percent of Total
Missing	5,312,423	99.66%
Not Missing	17,868	0.34%

CPT27	Frequency	Percent of Total
Missing	5,316,447	99.74%
Not Missing	13,844	0.26%

CPT28	Frequency	Percent of Total
Missing	5,319,427	99.80%
Not Missing	10,864	0.20%

СРТ29	Frequency	Percent of Total
Missing	5,321,785	99.84%
Not Missing	8,506	0.16%

СРТ30	Frequency	Percent of Total
Missing	5,323,614	99.87%
Not Missing	6,677	0.13%